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#includ tdio.h =
include <stdio. h> 110,=1010, || 1 0 1 0
int main( ){ &
int a = 10; ‘610 = 0110, ‘ 0 1 1 0
int b = 6; —
printf("%sd & %d = %d", a, b, a&b); 0 0 1 0
return 0;
}

1010, & 0110, = 0010,

10,, & 6,5=2,
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#include <stdio.h>

10,,= 1010, |

int main(){
int a = 10;

int b = 6; 16, =0110, |

printf("%sd | %d = %d", a, b, a|b);
return 0;

0 1 0
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1 1 0

1010, | 0110, = 1110,
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#include <stdio.h>

int main(){
int a = 10;
int b = 6;

printf("%sd ~ %d = %d", a, b, a”b);
return 0;
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1 0 1 0
0 1 1 0
1 1 0 0
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#include <stdio.h>

int main(){
int a = 10;
int b = 20;

printf("%d
printf( "%d
(
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oP

printf("%d
printf("%d
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%d\n",
%d\n",
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o T o Q

>>

<<

>>

<<

2); // 10
2); // 10
4); // 20
4); // 20

==

<<

==

<<

AN AN NN

40

320



MTEREAES



Eeil . ZEFIBIESE N EfhoiE ?

Hef @ 150, W _ERIBIEAZEEIRE N EfunzE 1 &2 07

150,, = 10010110,

1 0 0 1 0 1 1 0




150, H9 —EHIEE N {ELTiE ?

B—L oA 2 {EMUTT

N=3
150,,=10010110, | 1 0 0 1 0 1 1 0
0 0 1 0 0 1 0 1

{( a >> (3-1) )J




150, H9 —EHIEE N {ELTiE ?

£ IR1%E1T AND E&F @ mioJHEIotE 1 220 -

1 0 0 1 0 1

&
0 0 0 0 0 1
0 0 0 0 0 1

{(a» (N—1))81J




AR . ZERIBUESE N ETiE ?

#include <stdio.h>

int main( ){
unsigned int a
int L = 3;
unsigned int x = ( a > (i1-1) ) & 1;
// Bt a F 1 EUER) bit &

150;

printf("su\n", X);
return 0;
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#include <stdio.h>

int main(){
inE n ¢

scanf("%sd", &n);
printf("2 B8 %d &7 => %d\n", n, 2<<(n-1));
return 0;
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AR« BEIN ZEBUS 2

#include <stdio.h>

int main(){
int n ;
scanf("%d", &n);
if (n & 1) {
printf("%sd EZF&\n", n);
} else {
printf("%sd ZBE\n", n);
}

return 0;
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int/long EHANMITTHRESREBATHRFIRIEMBE

ZIRIRIR UHRE BEEE
int 16MIJT 24 2 bytes -32768 t032767
int 32ITC 24 4 bytes -2,147,483,648 to 2,147,483,647
short 2 bytes -32,768 to 32,767
long  32fUJTE#R 4 bytes -2,147,483,648 to 2,147,483,647
long  64QITTEAR 8 bytes -(293) to (263)-1




Blunsigned short int2R R BAE IF 8 7SR BV EE 2

- B3 unsigned short int x;
» unsigned short int MA16{&fI TR =R IEZEE

M
0000000000000000 0
0000000000000001 1
0000000000000010 2
0000000000000011 3
0000000000000100 4
11111171111111110 65534
1111111111111111 65535
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- B3 unsigned short int x;
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0000000000000000 0
0000000000000001 1
0000000000000010 2
0000000000000011 3
0000000000000100 4
11111171111111110 65534
1111111111111111 65535
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0000000000000000 0 1000000000000000 | -0
0000000000000001 1 1000000000000001 -1
0000000000000010 2 1000000000000010 | -2
0000000000000011 3 1000000000000011 -3
0000000000000100 4 1000000000000100 | -4
0111111111111110 32766 1111111111111110 | -32766
0111111111111111 32767 1111111111111111 -32767
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#include <stdio.h>

#include <limits.h>

int main(){

unsigned short int x = USHRT_MAX, y = 0;

short int a = SHRT_MAX, b =

printf(“NOT(%
printf("NOT(%
printf("NOT(%d
printf("NOT(%d
return 0;

u
u

)
)
)
)

Su\n",
Su\n",
%d\n",
%d\n",

X
Ys
a,
b,

S
(
(
(
(

HRT_MIN;

unsigned short int )~x); // NOT(65535) = 0
unsigned short int )~y); // NOT(0) = 65535
short int)~a); // NOT(32767) = -32768
short int)~b); // NOT(-32768) = 32767
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